
() 

2)35 
S 33 

93 
2413 + 11+2 

214 

01243 

035 

95x 102 
4x25S 
3x5O 
2x 425 

3 

4145 

A 105, 442, 919, 126, 133,(10) oK 

SA)= 5 ou 23 

B-1B8 
Soltion 140+445255 

2550+425+900+765 + 408 

421A S(A)23 23 

A- 108, 12))13)) 144 (420) 

Solatid 258 t ?0 220 

B-8 x1 2458 

B6:76x64 6 

Si AE6: B2:62y26 men 

B=&:68y86 

OK 

OkJ 

5848 non 



7246-37 

I5]48= + 10 

(40 

37-14 20 

inposs. 
1874A4 

Ca 



45 

1314 
121612 

ie)3 wROC = 3 WROc 

B 
3x1ROC 

3x7AO8 

A=-0 

4 2 AW < 4000 42A 

A=51 

18 

4A=2+ 30 Le7 
3600 4000 

en 
O2 

06 

3x1OloB 

R23 

BR618-4i0-6044 ro 

3x1.08 

Si L=7 2300 3200. 

412618957 

R2 

3644 
3684 
3224 mmg 
3264 
3804 

2324 

3 

3744 



444264548 
46|43 431o 

201|44 

13+ 20 
A+C=32 

64D=2g 

2 
455 

8=78 

to 13 0 43 40 

3 

96 2 406 

2Al 

413552 
33 27= 12 

642 +20 + d6 13 

52-3616 

39 25 -14 

Restent 44 5, 7? 18 

A+B65-32 -3 

$5-46 9 

128 +4 

y6a 20 

8 C+D- 6532 28 = 14+12 

15+ 18 



4 
2c44/3 

46 
3 

256 

16/3 

466 x3 



24 3 

937 1537 
H 

2 

11 23 5 8 43 
GHD 

5: 

34 (40,6) (40, 40) 
55: 40,40) 

34 

10946 

B 

(65,40) 

3 

21 
G 

2SB4 

24 94 5583 

233:(65, 40)5, 2?3) 
37: (65,223) (942)273) 
1592 (442, 273) (442, 4370) 

D 2384 (942,1870)(Boo, 1820) 

B 
444233 377 

4184 665 0346 

10946 43#0K (2,4) ’ (2,6) 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

